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1. Jolcl AT 3[pId {18l ebIURRRR [ Write in the
number form: sixty nine ] DB

(1) ¢[89] @2 we[79] ©3) €°[69] @ w[5D9]

2. UaIc AT 3I81RIA feTa8l: ¢¥ [ Write in the word

form: 84 ] DRB@D
(1) 3idaRr [ eight four ] (2) di=a s [ Seventy four |

(3) di=mvedl [ Eighty four | (4) 3igdiolid [ Forty eight |
3. UDI CIUCild 2 Gl ¢ 31 3 Fauloid bl 3Id 3RIAICT? [ 2 tens
and 5 mangoes are in a basket, then how many mangoes

are in the basket? ] D@
(1) 8[7] 2) R;0[20] (3) 209 [ 205](4) [ 25]

4. iciicrddt drurdt e ot Gord oiél? [ Find the
number which is not complete in tens ] ORR@

(1) Yo [BO0] (@ Ww[20] @) 2w[18] 4 30[30]
5. ZIciicTidbl DIVIAT AR £3 UL AT 318? [ Write the
greater number than ‘637 | D2B@W

(1) ’[D59] (2 €2[61] (B €€[66] 4 €o[60]
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6. WQ || ¢y e feres 9121 [ Fill the correct sign.
79 184 ] D@

m < @ > @ = @V
7. SI2 DI 3Mlcdid 3MeATT 9 SIS 3RAclcT (2 Helel SIS fdbed 3rRier? [ If 7
mango trees are in a line find the middle one? ] @@B®

(1) R3[ 2nd | 2) ¢d|[ 5th ]
3) ¥ [ 4th ] 4) 33[3rd ]

8. Alcflcl KPR’ 8 311S dlacel fdbad 318? [ Which is the place of
'R’ tree from last? ] D@
¥F ¥ ¥ ¥ F ¥
P Q R S T U
(1) 33[3rd ] 2) ¥ 9 [ 4th ]

3) e[ 1st] 4) R3[ 2nd |

9. £9+9=2[ 65+ 7=? ] ORBW

M w[74] @2 W3I[73] @) W[72] @ we[75]
10. WBDD + Y BDD =? [ 7 units + 7 units = ? | D2B@W
(1) WOGIIdb [ 77 tens ] (2) WGID [ 7 tens |
(3) ¥ BDD [ 14 units | (4) ¥ Gl [ 14 tens |
11. DOB®
AL 2 0975
Tl¢e Ta2s 3) VY[ 715 ]
| - 4) W[ 95]
12. £¢-9=2[ 68 - 5 =? ] D@
(M w3[73] (2 €3[63] B W[72] @ &[62]
13. fooedt Brd R [ How many three for twelve ? | D@
M A2 ] 2 3[3] 3 ¥[4] 4) 9[5]
14. AaI 310 fbddl? [ Six eights are? | D@

(1) ¥R[42] (2 ¥¢[48] @B ¥9[45] @) wy[b4]
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15.

16.

17.

18.

19.

20.

21.

SMmcIcil IR 9RI. o, Yo, ..., Yo, Yo, 30 [ Fill in the

blanks. 80 , 70,..., 50, 40, 30 | V2@

(1) €0[60] (20 0[90] ©3) Wwe[75] (@) [20]

U] clUctid ¥ AWIdc Bldl il 23 AwIdg [ddetl a2 fdoddt Jw2dg
32cil? [ 45 apples were in basket, 23 were sold then how

many apples were in basket? | LW
(1) €¢[68] (@2 2W[23] 1B WQ[22] @ 23[13]
Fadarms ¥3 ufl sad. Idle ¢ gordb vl ool A oo az Baarms

fooddl a1uft forccim Aadicr? [ Smita has 43 beads, she gave 1
tens to her sister from them, so how many beads are re-

maining with Smita? ] L@
(1) v[42] (@ 93[d33] (3 33[33] 4 v9[47]
HOIAIR oi12 AVIRI 3 A dR DIV [ Which is the 3rd day after
Tuesday? | D2B@D
(1) Adar [ Sunday ] 2) 3RxAR [ Thrusday |

(3) 9rbarR [ Friday | (4) 9rfoldrR [ Saturday ]
AuIdicT olaar dfgell DA [ Which is the ninth month of
year? ] DRB@D
(1) AR [ September ] (2) 3ilerkc [ August ]

(3) 3ifaciaz [ October | 4) ollcaaz [ November ]

3Iocl URietefiet ¥ . g FHocAr URlaEdict ¥o . BT el R fdoedl
W eldler? [ There are 25 rs. in Anjus purse and 40 rs.
in Manju’s purse, then how many rupees

altogether? | DRB@D
(1) 30 [ sixty ] (2) URISC [ sixty five ]

(8) sl [ seventy five ] (4) Ucdidodl [ fifty five |
AdIciicrticbl Idid SR> dolol P9I 3RIcT? [ Which object is heav-
iest ? ] L@

(1) walcaAr [ 7 marbles ]
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22.

23.

24.

25.

2) 2y alcaAr| 14 marbles ]
3) 2¢slcar| 11 marbles ]
4) 2o9lcar| 10 marbles |

20 BRI ¢ DI [ Change 20 rupees. | D2B@D
(1) 10X 5% 23 (2)] 10X 10X 5%

(3)| 10X 5% 5% 4)| 5% 5% 5%
Aicticiddbl ds1dt 3trpedl sl [ Find the different figure from
following? ] D2B@D

(1) : (2) (3) (4)

ussifcrosical Sietl Ao siidbddiar u=ai fofast. [ Select the correct
figures option at question mark. ] DRB@D

OO0, 000, 00002000000
1O O 20O OO
@O OOO0O 4 O

Q0 d @ AT IRRIIAR doId MMfSGd 35180 RIR Dd. [ Create a
word problem with the help of the number 10 and 5. ]
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